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Change 1

Test case name
8.3.2.6

Reason for change
There are no communication between GERAN and UTRAN PTC so these 2 PTCs had to be connected to run the the TCs requires EUTRA, GERAN and UTRA PTC.

Summary of change
UTRAN and GERAN PTCs are connected to each other

Source of change
MTC_Main_LTE.ttcn

Before change:

 …

 …         

    // ***** Connect PTCs to MTC *****

    if (p_Eutra != null)     {connect(mtc:PTC_Ut[tsc_MTC_PortIndex_EUTRA],    p_Eutra:UT);}

    if (p_Utran != null)     {connect(mtc:PTC_Ut[tsc_MTC_PortIndex_UTRAN],    p_Utran:UT);}

    if (p_Geran != null)     {connect(mtc:PTC_Ut[tsc_MTC_PortIndex_GERAN],    p_Geran:UT);}

    if (p_Cdma2000 != null)  {connect(mtc:PTC_Ut[tsc_MTC_PortIndex_CDMA2000], p_Cdma2000:UT);}

    // ***** Connect EUTRA PTC to other PTCs *****

    if (p_Utran != null)     {connect(p_Eutra:UTRAN,    p_Utran:EUTRA);}

    if (p_Geran != null)     {connect(p_Eutra:GERAN,    p_Geran:EUTRA);}

    if (p_Cdma2000 != null)  {connect(p_Eutra:CDMA2000, p_Cdma2000:EUTRA);}

…

…         



After change:

 …

 …         

    // ***** Connect PTCs to MTC *****

    if (p_Eutra != null)     {connect(mtc:PTC_Ut[tsc_MTC_PortIndex_EUTRA],    p_Eutra:UT);}

    if (p_Utran != null)     {connect(mtc:PTC_Ut[tsc_MTC_PortIndex_UTRAN],    p_Utran:UT);}

    if (p_Geran != null)     {connect(mtc:PTC_Ut[tsc_MTC_PortIndex_GERAN],    p_Geran:UT);}

    if (p_Cdma2000 != null)  {connect(mtc:PTC_Ut[tsc_MTC_PortIndex_CDMA2000], p_Cdma2000:UT);}

    // ***** Connect EUTRA PTC to other PTCs *****

    if (p_Utran != null)     {connect(p_Eutra:UTRAN,    p_Utran:EUTRA);}

    if (p_Geran != null)     {connect(p_Eutra:GERAN,    p_Geran:EUTRA);}

    if ((p_Geran != null) and (p_Utran != null))     {connect(p_Utran:GERAN,    p_Geran:UTRAN);}
    if (p_Cdma2000 != null)  {connect(p_Eutra:CDMA2000, p_Cdma2000:EUTRA);}

…

…   

    

Change 2

Test case name
8.3.2.6

Reason for change
As per the 3GPP spec 44.018 clause 9.1.34a, the contents of SI2quater message should be less than 23 bytes so SI2quater message needs to be split into 3 instances as it contains UTRAN and EUTRA neighbouring cell information, so new templates are added to split the SI2quater information

Summary of change
New templates are added

Source of change
GERAN_Templates.ttcn

After change:

  template (value) UTRAN_FDD_Descr cs_G_FDD_Descr3N_2F(B14_Type p_ARFCN4,  // The 1st freq contains 2 cells, but the scrmCode is hardcoded

                                                       B14_Type p_ARFCN2,

                                                       bitstring p_ScrmCode2

                                                       ) :=

  { /* @status    APPROVED */

    bandwidthMask   := '0'B,

    bandwidthFDD    := omit,                         // not present if bandwidthMask = 0

    repeatedUTRAN_FDD_NeighbourCells1 := {

      cs_G_FDD_RptDescr2( p_ARFCN4),

      cs_G_FDD_RptDescr1( p_ARFCN2, p_ScrmCode2),

      cs_G_FDD_DescrListEmpty

    }

  };

  template (value) UTRAN_FDD_Descr cs_G_FDD_Descr1N_1F(B14_Type p_ARFCN3,

                                                       bitstring p_ScrmCode3) :=

  { /* @status    APPROVED */

    bandwidthMask   := '0'B,

    bandwidthFDD    := omit,                         // not present if bandwidthMask = 0

    repeatedUTRAN_FDD_NeighbourCells1 := {

      cs_G_FDD_RptDescr1( p_ARFCN3, p_ScrmCode3),

      cs_G_FDD_DescrListEmpty

    }

  }; 

…

…   

  template (value) NeighCellDescr3G cs_SI2quater_3G_3N_2FCell_FDD(B14_Type p_ARFCN4,  // The 1st freq contains 2 cells, but the scrmCode is hardcoded

                                                                  B14_Type p_ARFCN2,

                                                                  bitstring p_ScrmCode2

                                                                  ) :=

  { /* @status    APPROVED */

    indexMask       := '0'B,

    indexStart3G    := omit,                         // not present if indexMask = 0

    absoluteIndexMask := '0'B,

    absoluteIndexStartEMR := omit,                   // not present if absoluteIndexMask = 0

    fDDMask         := '1'B,

    uTRAN_FDD_Description := cs_G_FDD_Descr3N_2F(p_ARFCN4, p_ARFCN2, p_ScrmCode2),

    tDDMask         := '0'B,

    uTRAN_TDD_Description := omit                    // not present if tDDMask = 0

  };

    template (value) NeighCellDescr3G cs_SI2quater_3G_1N_1FCell_FDD(B14_Type p_ARFCN3,

                                                                  bitstring p_ScrmCode3) :=

  { /* @status    APPROVED */

    indexMask       := '1'B,

    indexStart3G    := '0000011'B,                         // not present if indexMask = 0

    absoluteIndexMask := '0'B,

    absoluteIndexStartEMR := omit,                   // not present if absoluteIndexMask = 0

    fDDMask         := '1'B,

    uTRAN_FDD_Description := cs_G_FDD_Descr1N_1F(p_ARFCN3, p_ScrmCode3),

    tDDMask         := '0'B,

    uTRAN_TDD_Description := omit                    // not present if tDDMask = 0

  };

….

….

  template (value) SI2quaterRO cs_SI2quaterRO_EUTRA_UTRA( B4_Type p_Index,

                                               B4_Type p_Count,

                                               B1_Type p_NeighCellMask,

                                               template (omit) NeighCellDescr3G p_NeighCellDescr3G,

                                               B1_Type p_MeasParamMask,

                                               template (omit) SI2quaterRO_MeasParamDescr3G p_MeasParamDescr3G,

                                               B1_Type p_GPRS3GMeasParamMask,

                                               template (omit) SI2quaterRO_GPRS_3G_MeasParamDescr p_GPRS3GMeasParamDescr,

                                               B1_Type p_EUTRANMeasMask,

                                               template (omit) EUTRANMeasParams_SI2 p_EUTRANMeasParams) :=

  { /* @status    APPROVED */

    // @sic GP-110108 sic@

    bA_IND          := '0'B,

    bA_IND_3G       := '0'B,

    mP_CHANGE_MARK  := '0'B,

    sI2quater_INDEX := p_Index,

    sI2quater_COUNT := p_Count,

    measParamMask   := '0'B,

    measParamDescription := omit,                    // not present if measParamMask = 0

    gprsRTDMask     := '0'B,

    gPRS_RealTimeDiffDescr := omit,                  // not present if gprsRTDMask = 0

    gprsBSICMask    := '0'B,

    gPRS_BSIC_Description := omit,                   // not present if gprsBSICMask = 0

    gprsRepPrioMask := '0'B,

    gPRS_REP_PRIORITY_Descr := omit,                 // not present if gprsRepPrioMask = 0

    gprsMeasParamMask := '0'B,

    gPRS_MeasParamsDescr := omit,                    // not present if gprsMeasParamMask = 0

    ncMeasParamMask := '0'B,

    NC_Measurement_Parameters := omit,               // not present if ncMeasParamMask = 0

    extnLengthMask  := '0'B,

    extensionLength := omit,

    extnMask        := omit,                         // not present if extnLengthMask = 0

    numCells        := omit,                         // not present if extnLengthMask = 0 or extnMask = 0

    cCNSupported    := omit,                         // not present if extnLengthMask = 0 or extnMask = 0

    neighCellMask   := p_NeighCellMask,

    neighCellDes3G  := p_NeighCellDescr3G,           // not present if neighCellMask = 0

    measParam3GMask := p_MeasParamMask,

    measurementParams3G := p_MeasParamDescr3G,       // not present if measParam3GMask = 0

    gprsMeasParam3GMask := p_GPRS3GMeasParamMask,

    gPRS_3G_MeasParamDescr := p_GPRS3GMeasParamDescr, // not present if gprsMeasParam3GMask = 0

    rel5Mask        := '1'B,

    addMeasMask     := '0'B,                         // not present if mask = L or rel5Mask = L

    addMeasParam3G  := omit,                         // not present if mask = L, rel5Mask = L or addMeasMask = 0

    addMeasMask2    := '0'B,                         // not present if mask = L or rel5Mask = L

    fddRepThres2Mask := omit,                        // not present if mask = L, rel5Mask = L or addMeasMask2 = 0

    fddRepThreshold2 := omit,                        // not present if mask = L, rel5Mask = L, addMeasMask2 = 0 or fddRepThres2Mask = 0

    rel6Mask        := '1'B,                         // not present if rel5Mask = L

    cCNActive       := '0'B,                          // not present if rel5Mask = L or rel6Mask = 0

    rel7Mask   := '1'B,

    report700810  := cs_Rel7_ReportingDef700810,

    rel8Mask   := '1'B,

    priorEutranMask := '1'B,         // not present if rel8Mask = L

    scPriorMask    := '1'B,          // not present if rel8Mask = L

    geranPrior     := '010'B,          // not present if rel8Mask = L or scPriorMask = 0

    threshPriorSearch := '1111'B,       // not present if rel8Mask = L or scPriorMask = 0

    threshGSMLow  := '0000'B,       // not present if rel8Mask = L or scPriorMask = 0

    hPrior          := '00'B,         // not present if rel8Mask = L or scPriorMask = 0

    tReselection    := '00'B,          // not present if rel8Mask = L or scPriorMask = 0

    prior3GMask     := '0'B,          // not present if rel8Mask = L

    utranStart     := omit,          // not present if rel8Mask = L or prior3GMask = 0

    utranStop      := omit,          // not present if rel8Mask = L or prior3GMask = 0

    prior3GParams  := omit,          // not present if rel8Mask = L or prior3GMask = 0

    eutranMeasMask  := p_EUTRANMeasMask,         // not present if rel8Mask = L

    eutranMeasParams := p_EUTRANMeasParams,        // not present if rel8Mask = L or eutranMeasMask = 0

    csg_3GMask      := '0'B,         // not present if rel8Mask = L

    csg_3GDescr     := omit,        // not present if rel8Mask = L or csg_3GMask = 0

    eutran_CsgMask  := '0'B,         // not present if rel8Mask = L

    eutran_CsgDescr  := omit,         // not present if rel8Mask = L or eutran_CsgMask = 0

    rel9Mask         := '0'B,        //   @sic R5s110176 sic@

    enhancedMask     := omit,        // not present if rel9Mask = L @sic R5s110176 sic@

    enh_CellReselect := omit,        // not present if rel9Mask = L and enhancedMask = 0 @sic R5s110176 sic@

    csgCellRptMask   := omit,        // not present if rel9Mask = L @sic R5s110176 sic@

    csgCellRpt        := omit         // not present if rel9Mask = L and csgCellRptMask = 0 @sic R5s110176 sic@

  };
….

….

Change 3

Test case name
8.3.2.6

Reason for change
SI2quater message needs to be split into 3 instances if ot contains the UTRAN and EUTRA neighbouring cell informations.

Summary of change
New function for the 3rd instance of SI2quater message is added

Source of change
GERAN_Component.ttcn

Before change:

  function f_GERAN_SysInfo_GetSI2q_1(GERAN_CellId_Type p_CellId) runs on GERAN_PTC return SYSTEMINFORMATIONTYPE2quater

  {

    var GERAN_SystemInformation_Type v_SysInfo := f_GERAN_SysInfo_Get (p_CellId);

    return v_SysInfo.si2quater_1;

  }

  function f_GERAN_SysInfo_GetSI2q_2(GERAN_CellId_Type p_CellId) runs on GERAN_PTC return SYSTEMINFORMATIONTYPE2quater

  {

    var GERAN_SystemInformation_Type v_SysInfo := f_GERAN_SysInfo_Get (p_CellId);

    return v_SysInfo.si2quater_2;

  }

  function f_GERAN_SysInfo_SetSI2q_1(GERAN_CellId_Type p_CellId,

                                     template (value) SYSTEMINFORMATIONTYPE2quater p_SI2q) runs on GERAN_PTC

  {

    var template (value) GERAN_SystemInformation_Type v_SysInfo := f_GERAN_SysInfo_Get (p_CellId);

    v_SysInfo.si2quater_1 := p_SI2q;

    f_GERAN_SysInfo_Set (p_CellId, v_SysInfo);

  }



After change:

  function f_GERAN_SysInfo_GetSI2q_1(GERAN_CellId_Type p_CellId) runs on GERAN_PTC return SYSTEMINFORMATIONTYPE2quater

  {

    var GERAN_SystemInformation_Type v_SysInfo := f_GERAN_SysInfo_Get (p_CellId);

    return v_SysInfo.si2quater_1;

  }

  function f_GERAN_SysInfo_GetSI2q_2(GERAN_CellId_Type p_CellId) runs on GERAN_PTC return SYSTEMINFORMATIONTYPE2quater

  {

    var GERAN_SystemInformation_Type v_SysInfo := f_GERAN_SysInfo_Get (p_CellId);

    return v_SysInfo.si2quater_2;

  }

  function f_GERAN_SysInfo_GetSI2q_3(GERAN_CellId_Type p_CellId) runs on GERAN_PTC return SYSTEMINFORMATIONTYPE2quater

  {

    var GERAN_SystemInformation_Type v_SysInfo := f_GERAN_SysInfo_Get (p_CellId);

    return v_SysInfo.si2quater_3;

  }
  function f_GERAN_SysInfo_SetSI2q_1(GERAN_CellId_Type p_CellId,

                                     template (value) SYSTEMINFORMATIONTYPE2quater p_SI2q) runs on GERAN_PTC

  {

    var template (value) GERAN_SystemInformation_Type v_SysInfo := f_GERAN_SysInfo_Get (p_CellId);

    v_SysInfo.si2quater_1 := p_SI2q;

    f_GERAN_SysInfo_Set (p_CellId, v_SysInfo);

  } 

Change 4

Test case name
8.3.2.6

Reason for change
The 3rd instance of SI2quater message needs to be transmitted.

Summary of change
The 3rd instance of SI2quater message is transmitted.

Source of change
GERAN_CommonFunctions.ttcn

Before change:

  function f_GERAN_SendGSMSysInfo(GERAN_CellId_Type p_CellId) runs on GERAN_PTC

  {

    var GERAN_SystemInformation_Type v_SysInfo := f_GERAN_SysInfo_Get(p_CellId);

    G_L2.send(cas_SysInfo1(p_CellId, v_SysInfo.si1));

    G_L2.send(cas_SysInfo2(p_CellId, v_SysInfo.si2));

    G_L2.send(cas_SysInfo3(p_CellId, v_SysInfo.si3));

    G_L2.send(cas_SysInfo4(p_CellId, v_SysInfo.si4));

    G_L2.send(cas_SysInfo13(p_CellId, '0'B, v_SysInfo.si13));

    G_L2.send(cas_SysInfo2quater(p_CellId, 0, v_SysInfo.si2quater_1));

    if (isvalue(v_SysInfo.si2quater_2)) {

      G_L2.send(cas_SysInfo2quater(p_CellId, 1, v_SysInfo.si2quater_2));

    }

    if (px_GERAN_BandUnderTest ==  GSM_P900 or  px_GERAN_BandUnderTest == GSM_E900 ) {

      G_L2.send(cas_SysInfo2bis(p_CellId, 0, v_SysInfo.si2bis));

    }

    else if ( px_GERAN_BandUnderTest == GSM710) {

      G_L2.send(cas_SysInfo15(p_CellId, v_SysInfo.si15));

    }

    else if ( px_GERAN_BandUnderTest == T_GSM810) {

      v_SysInfo.si15 := valueof(cs_SysInfoType15(cs_SI15_RO('0111'B)));

      G_L2.send(cas_SysInfo15(p_CellId, v_SysInfo.si15));

    } 

After change:

  function f_GERAN_SendGSMSysInfo(GERAN_CellId_Type p_CellId) runs on GERAN_PTC

  {

    var GERAN_SystemInformation_Type v_SysInfo := f_GERAN_SysInfo_Get(p_CellId);

    G_L2.send(cas_SysInfo1(p_CellId, v_SysInfo.si1));

    G_L2.send(cas_SysInfo2(p_CellId, v_SysInfo.si2));

    G_L2.send(cas_SysInfo3(p_CellId, v_SysInfo.si3));

    G_L2.send(cas_SysInfo4(p_CellId, v_SysInfo.si4));

    G_L2.send(cas_SysInfo13(p_CellId, '0'B, v_SysInfo.si13));

    G_L2.send(cas_SysInfo2quater(p_CellId, 0, v_SysInfo.si2quater_1));

    if (isvalue(v_SysInfo.si2quater_2)) {

      G_L2.send(cas_SysInfo2quater(p_CellId, 1, v_SysInfo.si2quater_2));

    }

    if (isvalue(v_SysInfo.si2quater_3)) {

      G_L2.send(cas_SysInfo2quater(p_CellId, 2, v_SysInfo.si2quater_3));

    }
    if (px_GERAN_BandUnderTest ==  GSM_P900 or  px_GERAN_BandUnderTest == GSM_E900 ) {

      G_L2.send(cas_SysInfo2bis(p_CellId, 0, v_SysInfo.si2bis));

    }

    else if ( px_GERAN_BandUnderTest == GSM710) {

      G_L2.send(cas_SysInfo15(p_CellId, v_SysInfo.si15));

    }

    else if ( px_GERAN_BandUnderTest == T_GSM810) {

      v_SysInfo.si15 := valueof(cs_SysInfoType15(cs_SI15_RO('0111'B)));

      G_L2.send(cas_SysInfo15(p_CellId, v_SysInfo.si15));

    }

Change 5

Test case name
8.3.2.6

Reason for change
SI2quater message needs to be split up containing all the neighbouring cell informations for EUTRA and UTRAN cells.

Summary of change
SI2quater message is splitted into 3 instances.

Source of change
GERAN_CellInfo.ttcn

Before change:

  type record GERAN_SystemInformation_Type {    /* @status    APPROVED */

    SYSTEMINFORMATIONTYPE1  si1,

    SYSTEMINFORMATIONTYPE2  si2,

    SYSTEMINFORMATIONTYPE2bis  si2bis optional,

    SYSTEMINFORMATIONTYPE2quater  si2quater_1,

    SYSTEMINFORMATIONTYPE2quater  si2quater_2  optional, // only need 2nd instance if UTRAN present too

    SYSTEMINFORMATIONTYPE3  si3,

    SYSTEMINFORMATIONTYPE4  si4,

    SYSTEMINFORMATIONTYPE5  si5,

    SYSTEMINFORMATIONTYPE5bis  si5bis,

    SYSTEMINFORMATIONTYPE6  si6,

    SYSTEMINFORMATIONTYPE13  si13,

    SYSTEMINFORMATIONTYPE15  si15 optional //Only for 710 and 810

  };

….

….

    if (v_NoOfPTCs == 2) {

     if (ischosen(v_UTRAN_SysInfo[0].FDD)) {

      v_SysInfo.si2quater_1 := cs_SysInfoType2quater(cs_SI2quaterRO('0000'B,

                                                                          '0001'B,

                                                                          '1'B,                                                           cs_SI2quater_3G_4N_3FCell_FDD(int2bit(v_UTRAN_SysInfo[0].FDD.Freq, 14),

                                                                                                        int2bit(v_UTRAN_SysInfo[1].FDD.Freq, 14),

                                                                                                        int2bit( v_UTRAN_SysInfo[1].FDD.ScramblingCode, 9) & '0'B,

                                                                                                        int2bit(v_UTRAN_SysInfo[2].FDD.Freq, 14),

                                                                                                        int2bit( v_UTRAN_SysInfo[1].FDD.ScramblingCode, 9) & '0'B,

                                                                                                        int2bit(v_UTRAN_SysInfo[3].FDD.Freq, 14),

                                                                                                        int2bit( v_UTRAN_SysInfo[1].FDD.ScramblingCode, 9) & '0'B),

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          omit));  // Can't fit everything in one instance, so have to split it up

            v_SysInfo.si2quater_2 := cs_SysInfoType2quater(cs_SI2quaterRO('0001'B, '0001'B,'0'B, omit,

                                                                          '1'B, cs_SI2quaterMeasParams3G_ISHO,

                                                                          '0'B, omit,

                                                                          v_EUTRA_SI2));

          } else { //TDD

            v_SysInfo.si2quater_1 := cs_SysInfoType2quater(cs_SI2quaterRO('0000'B,

                                                                          '0001'B,

                                                                          '1'B,                                                        cs_SI2quater_3G_4N_3FCell_TDD(int2bit(v_UTRAN_SysInfo[0].TDD.Freq, 14),

                                                                                                        int2bit(v_UTRAN_SysInfo[1].TDD.Freq, 14),

                                                                                                        int2bit( v_UTRAN_SysInfo[1].TDD.CellParametersID, 7)& v_UTRAN_SysInfo[1].TDD.Tstd& v_UTRAN_SysInfo[1].TDD.Diversity,

                                                                                                        int2bit(v_UTRAN_SysInfo[2].TDD.Freq, 14),

                                                                                                        int2bit( v_UTRAN_SysInfo[1].TDD.CellParametersID, 7)& v_UTRAN_SysInfo[1].TDD.Tstd& v_UTRAN_SysInfo[1].TDD.Diversity,

                                                                                                        int2bit(v_UTRAN_SysInfo[3].TDD.Freq, 14),

                                                                                                        int2bit( v_UTRAN_SysInfo[1].TDD.CellParametersID, 7)& v_UTRAN_SysInfo[1].TDD.Tstd& v_UTRAN_SysInfo[1].TDD.Diversity),

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          omit));  // Can't fit everything in one instance, so have to split it up

            v_SysInfo.si2quater_2 := cs_SysInfoType2quater(cs_SI2quaterRO('0001'B, '0001'B,'0'B, omit,

                                                                          '1'B, cs_SI2quaterMeasParams3G_ISHO,

                                                                          '0'B, omit,

                                                                          v_EUTRA_SI2));

          }

        } else { // No UTRAN

          v_SysInfo.si2quater_1 := cs_SysInfoType2quater(cs_SI2quaterRO('0000'B, '0000'B,'0'B, omit,

                                                                        '0'B, omit,

                                                                        '0'B, omit,

                                                                        v_EUTRA_SI2));

          v_SysInfo.si2quater_2 := omit;  // so everything can fit in one instance

        }

        v_CellArray[v_Index].sysInfo := valueof(v_SysInfo);

      }

    return v_CellArray;

  }

….

….

After change:

  type record GERAN_SystemInformation_Type {    /* @status    APPROVED */

    SYSTEMINFORMATIONTYPE1  si1,

    SYSTEMINFORMATIONTYPE2  si2,

    SYSTEMINFORMATIONTYPE2bis  si2bis optional,

    SYSTEMINFORMATIONTYPE2quater  si2quater_1,

    SYSTEMINFORMATIONTYPE2quater  si2quater_2  optional, // only need 2nd instance if UTRAN present too

    SYSTEMINFORMATIONTYPE2quater  si2quater_3  optional, // only need 3rd instance if UTRAN present
    SYSTEMINFORMATIONTYPE3  si3,

    SYSTEMINFORMATIONTYPE4  si4,

    SYSTEMINFORMATIONTYPE5  si5,

    SYSTEMINFORMATIONTYPE5bis  si5bis,

    SYSTEMINFORMATIONTYPE6  si6,

    SYSTEMINFORMATIONTYPE13  si13,

    SYSTEMINFORMATIONTYPE15  si15 optional //Only for 710 and 810

  };

….

….

        if (v_NoOfPTCs == 2) {

          if (ischosen(v_UTRAN_SysInfo[0].FDD)) {

            v_SysInfo.si2quater_1 := cs_SysInfoType2quater(cs_SI2quaterRO_EUTRA_UTRA('0000'B,

                                                                          '0010'B,

                                                                          '1'B, cs_SI2quater_3G_3N_2FCell_FDD(int2bit(v_UTRAN_SysInfo[0].FDD.Freq, 14),

                                                                                                        int2bit(v_UTRAN_SysInfo[2].FDD.Freq, 14),

                                                                                                        int2bit( v_UTRAN_SysInfo[1].FDD.ScramblingCode, 9) & '0'B

                                                                                                        ),

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          '0'B, omit));  // Can't fit everything in one instance, so have to split it up

            v_SysInfo.si2quater_2 := cs_SysInfoType2quater(cs_SI2quaterRO_EUTRA_UTRA('0001'B, 

                                                                          '0010'B,

                                                                          '1'B, cs_SI2quater_3G_1N_1FCell_FDD(int2bit(v_UTRAN_SysInfo[3].FDD.Freq, 14),

                                                                                                              int2bit( v_UTRAN_SysInfo[1].FDD.ScramblingCode, 9) & '0'B),

                                                                          '1'B, cs_SI2quaterMeasParams3G_ISHO,

                                                                          '0'B, omit,

                                                                          '0'B, omit));

            v_SysInfo.si2quater_3 := cs_SysInfoType2quater(cs_SI2quaterRO_EUTRA_UTRA('0010'B, 

                                                                          '0010'B,

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          '1'B, v_EUTRA_SI2));                                                                          

          } else { //TDD

            v_SysInfo.si2quater_1 := cs_SysInfoType2quater(cs_SI2quaterRO_EUTRA_UTRA('0000'B,

                                                                          '0001'B,

                                                                          '1'B,

                                                                          cs_SI2quater_3G_4N_3FCell_TDD(int2bit(v_UTRAN_SysInfo[0].TDD.Freq, 14),

                                                                                                        int2bit(v_UTRAN_SysInfo[1].TDD.Freq, 14),

                                                                                                        int2bit( v_UTRAN_SysInfo[1].TDD.CellParametersID, 7)& v_UTRAN_SysInfo[1].TDD.Tstd& v_UTRAN_SysInfo[1].TDD.Diversity,

                                                                                                        int2bit(v_UTRAN_SysInfo[2].TDD.Freq, 14),

                                                                                                        int2bit( v_UTRAN_SysInfo[1].TDD.CellParametersID, 7)& v_UTRAN_SysInfo[1].TDD.Tstd& v_UTRAN_SysInfo[1].TDD.Diversity,

                                                                                                        int2bit(v_UTRAN_SysInfo[3].TDD.Freq, 14),

                                                                                                        int2bit( v_UTRAN_SysInfo[1].TDD.CellParametersID, 7)& v_UTRAN_SysInfo[1].TDD.Tstd& v_UTRAN_SysInfo[1].TDD.Diversity),

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          '0'B,omit));  // Can't fit everything in one instance, so have to split it up

            v_SysInfo.si2quater_2 := cs_SysInfoType2quater(cs_SI2quaterRO_EUTRA_UTRA('0001'B, '0001'B,'0'B, omit,

                                                                          '1'B, cs_SI2quaterMeasParams3G_ISHO,

                                                                          '0'B, omit,

                                                                          '1'B,v_EUTRA_SI2));

          }

        } else { // No UTRAN

          v_SysInfo.si2quater_1 := cs_SysInfoType2quater(cs_SI2quaterRO_EUTRA_UTRA('0000'B, '0000'B,'0'B, omit,

                                                                        '0'B, omit,

                                                                        '0'B, omit,

                                                                        '1'B,v_EUTRA_SI2));

          v_SysInfo.si2quater_2 := omit;  // so everything can fit in one instance

        }

        v_CellArray[v_Index].sysInfo := valueof(v_SysInfo);

      }

    return v_CellArray;

  }
….

….

Change 6

Test case name
8.3.2.6

Reason for change
PTC can receive the coordination message in any order. However TTCN expect it to come in a specific order.

Summary of change
Updated TTCN handling to expect them in any order.

Source of change
CommonIratDefs.ttcn

Before change:

 …

 …         

  function f_IRAT_InitialCoOrd_2Ports(IRAT_CO_ORD_PORT p_Port1,

                                      IRAT_CO_ORD_PORT p_Port2,

                                      template (value) IRAT_CoOrd_SysInfo_Type p_SysInfoTx) return IRAT_CoOrd_SysInfo_List_Type

  {

    var IRAT_CoOrd_SysInfo_List_Type v_SysInfoRxList;

    p_Port1.send(cms_IRAT_SysInfo(p_SysInfoTx));

    p_Port2.send(cms_IRAT_SysInfo(p_SysInfoTx));

    v_SysInfoRxList[0] := f_WaitForIRATCoOrd_SysInfo (p_Port1);

    v_SysInfoRxList[1] := f_WaitForIRATCoOrd_SysInfo (p_Port2);  /* Note: that works since the coordination ports are not handled by the default behaviour

                                                                  *       i.e. there is a blocking receive for port1 and if the response for port2

                                                                  *       is faster it remains in port2's input queue */

    return v_SysInfoRxList;

  }

…

…         



After change:

 …

 …         

  function f_IRAT_InitialCoOrd_2Ports(IRAT_CO_ORD_PORT p_Port1,

                                      IRAT_CO_ORD_PORT p_Port2,

                                      template (value) IRAT_CoOrd_SysInfo_Type p_SysInfoTx) return IRAT_CoOrd_SysInfo_List_Type

  {

    var IRAT_CoOrd_SysInfo_List_Type v_SysInfoRxList;

    var IRAT_Coordination_MSG v_ReceivedMsg1, v_ReceivedMsg2;
    p_Port1.send(cms_IRAT_SysInfo(p_SysInfoTx));

    p_Port2.send(cms_IRAT_SysInfo(p_SysInfoTx));

    interleave {

    [] p_Port1.receive(cmr_IRAT_SysInfo) -> value v_ReceivedMsg1 {

        v_SysInfoRxList[0] := v_ReceivedMsg1.SysInfo;}

    [] p_Port2.receive(cmr_IRAT_SysInfo) -> value v_ReceivedMsg2 {

        v_SysInfoRxList[1] := v_ReceivedMsg2.SysInfo; }

       }

    return v_SysInfoRxList;

}

…

…   
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